[N,/ An deltag U

Ratio to ATLAS

1.6

0.5

13000 GeV pp Underlying Event
I O O Y I B B B B I B B
B . _
- <N_> vs @°* (n| < 2.5, p >0.5GeV, p_>1GeV) 3
[ m ATLAS ]
- --d-- Herwig 7.2.1 default —
~ —&— Pythia 8.212 default 7
I ¢ Sherpa 2.2.9 default _

mcplots.cern.ch [arXiv:1306.3436]

SESEERST
_—I—L-}-I—I—l--i——l;l—_Fl——l;I-_i--I—I—l-ﬂ—l-l-H—I—}-HEEEEEEEED—
. a
o “t‘ |

*e
*
L ’0-, ]
*o. A404¢

| L 1 L 1 ’I’..’ | L 1 1 1 1 L | L 1 L 1 L 1 L 1 " el‘*‘l”.‘ 1 " 1

0 50 100 150

|A @ [degrees]

Rivet 3.1.10, = 500k events

N

0.5



	Contents
	Page 1


